28.01.21
WALT: Solve 2-step problems using a bar model.
Independent/Supported/LA

a) Blue table have 68 crayons. Sally takes 13 crayons. Jimmy takes
12 crayons. How many crayons are there now?

b) Green table have 77 pens. Harriet takes 11 pens. Lisa takes 23 pens.
How many pens are there now?




c) Class 5J have 31 stickers. The boys get 23 more stickers and the
girls get 16 more stickers. How many stickers do Class 5J have
now?

d) There are 28 chairs in Class 2B. The girls sit in 14 of the chairs
and the boys sit in 12 of the chairs. How many chairs are not
being used?




